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ԱՆԳԼԵՐԵՆ ԼԵԶՎԻ ՄԱՐԶԱՅԻՆ ՕԼԻՄՊԻԱԴԱ 2020թ. 

(Տևողությունը 150 րոպե) 

XI-XII ԴԱՍԱՐԱՆՆԵՐ 

 

I. Read the text and answer the questions, choosing the right answer. (0,2x5=1) 

 

 

1. The word “intricate” in line 7 is closest in meaning to 

A. homemade  B. complex  C. ceremonial  D.natural 

 

2. According to the passage, three fourths of the Chumash diet consisted of 

A. acorns  B. fish  C. plant foods  D. antelope and rabbits 

 

3. The word “enthusiastic” in line 19 is closest in meaning to  

A. hesitant  B. foolish C. mean  D. eager 

 

1.  The Chumash people inhabited an area of southwestern California that included large 

portions of present-day Los Angeles, Ventura, Santa Barbara, and San Luis Obispo 

counties as well as the Channel Islands. They took advantage of the rich resources of 

their homeland. They made great use of stone for milling and for making tools and 

weapons. Their large domed huts were framed by willow poles covered with mats 

made from twined bulrushes harvested from the marshlands. Plant fiber was also used 

to weave baskets with beautiful, intricate patterns that are regarded as being among the 

finest in the world. From the trees, they used wood to make bowls, bows, and several 

types of canoes, the largest and most durable of which could hold up to twelve  people 

and ply the open ocean. 

2.  

3.  

4.  

5.  

6.  

7.  

8.  

9.  

10.  

11.  Although the Chumash were accomplished fishers and hunted a variety of animals, 

including elk, antelope, deer, rabbits, and squirrels, at least three fourths of their diet 

consisted of plant foods, including flowers, leaves, seeds, roots and bulbs. Their most 

important food source was the acorn, from which they made flour. Plants were also 

used to make medicines. 

12.  

13.  

14.  

15.  

16.  The Chumash lived in villages that were connected by social, political and economic  

ties. A typical village consisted of several domed houses, each with one or more  

granaries, a ceremonial dance ground, a field for game playing, a burial ground; and  

one or more sweat lodges. The Chumash were enthusiastic traders with other western  

tribes, who bartered for Chumash hides, grains, fruit, beads, headdresses, nets, baskets,  

leather, tools, utensils, and canoes. The Chumash even had a currency represented by a  

string of small white shell beads. At its height the Chumash nation consisted of 20.000 

to 30.000 people, who inhabited 75 to 100 villages. 

17.  

18.  

19.  

20.  

21.  

22.  

23.  
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4. The author mentions all of the following goods the Chumash traded EXCEPT 

A. fruit   B. leather C. canoes  D. willow poles 

 

5. The Chumash currency was represented by 

A. wooden beads B. tools  C. shells   D. grains 

 

II. Consider the following proverbs and then choose the most appropriate one for each situation. There 

are three extra proverbs. (7x0,5=3,5) 

A. Birds of a feather flock together. 

B. A stitch in time saves nine. 

C. Too many cooks spoil the broth. 

D. Many hands make light work. 

E. A fool and his money are soon parted. 

F. The early bird catches the worm. 

G. The proof of the pudding is in the eating. 

H. One swallow does not make a summer. 

I.  A bad workman always blames his tools. 

J.  It never rains but it pours. 

 

Situations: 

1. A team of five hundred cleaners came in to pick up all the rubbish at the stadium after 

the big rock concert. They finished the whole job in two hours. 

2. The headmaster, the coach, the team captain and one of the parents were all trying to tell 

the team what to do. No wonder they lost. 

3. My closest friends and I all love playing netball, surfing and listening to rock music. 

4. Yesterday I bashed my knee on a chair, my pen broke, I found out I’d failed my test and I 

caught a cold. 

5. Peter used to wash the salt water out of his fishing reel after every fishing trip and the 

reel is still good after ten years. 

6. I failed Maths again. We have a hopeless teacher and our textbooks are so boring. 

7. Leanne applied for a casual position before anyone else in the class; it’s not surprising that 

she got a holiday job straight away. 

III. Choose the one answer that could best replace the underlined phrasal verb without changing 

the meaning of the sentence. (5x0,4=2) 

1. Ultrasonic sound waves can pick out cracks in metal that the human eye cannot see. 

  a) observe   b) elect  c) detect   d) conceal 
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2. In the 1980s TV viewers began to hook up videocassette players to their TVs. 

a) blend  b) connect     c) circulate  d) charge 

3. For centuries people made up stories about dragons. 

a) developed  b) prepared  c) erected  d) created  

4. During World War I in the United States, posters were used to ask young men to sign up in a 

serious campaign to fight the enemy. 

a) enlist              b) persuade           c) testify         d) write 

5. A government’s economic resources must not be used up to avoid their shortage. 

a) exaggerated  b) dissected  c) consumed  d) constructed 

IV.For questions 1-15, read the text below and look carefully at each line some of the lines are 

correct, and some have a word which should not be there. If a line is correct, put a tick (V). If 

line has a word which should not be there, write the word. (15x0,2= 3) 

-being-0 This year I celebrate twenty years as being an English teacher. I am often  

-V-00  asked how I chose this career. In fact, I didn’t choose it: I drifted into it, 

--1  like a lot of such other people who have become English teachers. When I  

--2  finished university what I have really wanted to do was act as the theatre was,  

--3  and still is my first love. I tried to get it into drama school but I didn’t manage 

--4  it. I don’t think my acting was the problem. In one drama school it was my 

--5  singing one; the director said a successful actor needs to be able to both sing  

--6  and dance. I have never been very good at either. He sat at the piano while I  

--7  tried to sing a much well-known tune- I was not Pavarotti. At another school, 

--8    I was foolish enough to admit I didn’t have any money with which to pay up the  

--9   fees for my training, so even if though they thought I could act, they couldn’t  

--10  see how I was going to pay my way. I had reached a dead end. Then I saw 

--11   a poster in the university English department which advertising jobs for teachers  

--12  in Italy. I had always wanted to go to Italy because I had heard of so much about 

--13   it from my father. He was born in Italy and ran a small pizzeria in Camden 

--14  Town. Just for fun a friend and I we decided to go along to the interview in  

--15   London, though we had not been inside a classroom since we left school. 
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V. Complete the second sentence so that it has a similar meaning to the first sentence, using the 

word given. You must use between three and eight words, including the word given which 

mustn't be changed. (10x0,5=5) 

1. I never thought that we’d have legal problems.    occurred 

It………………………………………….that we’d have legal problems. 

2. I’ve decided that teaching is not the right profession for me.    conclusion 

I’ve…………………………..that teaching is not the right profession for me. 

3. Could you tell me where you were last night, Mr. Johnson?    account 

Could you ……………………….your whereabouts last night, Mr. Johnson? 

4. The journalist pretended that she was a parent of one of the children.    false 

The journalist…………………………that she was a parent of one of the children. 

5. There’s no way that you’re staying out all night with your friends, I’m afraid.   question  

Your staying out all night with your friends …………………………, I’m afraid 

6. They will decide very soon whether to close the Paris office.   point 

They ……………..  whether to close the Paris office. 

7. The plan is that I will give a presentation to the board on Friday morning.  due 

I…………………………………… a presentation to the board on Friday morning. 

8. The headmaster was determined to stop all bullying at the school.   end 

The headmaster was determined to…… toall bullying at the school. 

9. I’ll just finish this e-mail and then I’ll be with you.    second 

It ……………..  finish this e-mail and then I’ll be with you. 

10.  Don’t complain about it to me because it won’t make any difference.    good 

It’s…………………………… it because it won’t make any difference. 

VI. Choose the correct answer. (10x0,25=2,5) 

1. We must ___ that the telegram arrives in time. 

a) delay         b) ensure   c) send       d) persuade 

2. He is always ___ fault with other people. 

a) making   b) looking       c) putting       d) finding 
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3. As soon as his party came into ___ they changed the law.  

a) sight   b) street  c) accident  d) force 

4. This ____ of dog is very useful for hunting. 

a) tribe        b) group  c) clan     d) breed 

5. Don’t leave your bicycle out in the rain. It’ll get ___. 

a) rusty      b) hard  c) narrow  d) short 

6. In many___ factories, machines often do work previously done by men. 

a) actual        b) today      c) previous  d) modern 

7. The printing of the book has been held up by the paper ___ . 

a) linkage   b) shortage       c) sufficiency  d) end 

8. He has been ____ of murdering his wife.  

a) blamed      b) charged         c) accused     d) arrested 

9. It would be ____ a risk to let the child go to school by himself.  

a) following     b) passing        c) running   d) carrying  

10.  The man ___ because he had a bad leg.  

a) ran    b) limped  c) followed  d) travelled 

 

VII.  Complete the sentence using the word or set of words for each blank that best fits the 

meaning of the sentence as a whole. (10x0.3=3) 

1. This spinach omelet makes for______ breakfast as it has the vegetables and protein 

needed for a healthy diet. 

A. a filling  B. a fortunate  C. an edible D. a nutritious 

 

2. Jerry’s grandfather’s house is full of ______ technology such as rotary-dial phones and 

other devices that are no longer in use. 

A. contemporary B. obsolete C. current D. advanced 

 

3. Health insurance prevents routine medical visits from becoming too ______ for the 

average citizen; without insurance, seeing a doctor can be very expensive. 

A. helpful  B. valuable  C. costly D. advantageous 
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4. Although they have always done things ______ in the past, the twins felt it was crucial 

that they experience college separately, and foster a healthy sense of independence. 

A. jointly  B. joyfully   C. quietly D. individually  

 

5. Montero was ______ about the upcoming investigation, and he was only made more 

nervous by the newspaper accounts of it. 

A. easygoing  B. enthusiastic C. relaxed  D. anxious  

 

6. Apart from the one small river running through it, the desert is entirely ______. 

A. arid   B. humid  C. remote D. temperate 

 

7. Though the accident damaged the car pretty severely, mechanics were able to ______ it 

and make it almost good as new. 

A. destroy  B. harm  C. salvage D. hinder 

 

8. The other children did not want Alexander to play with them, so they ______ him 

from their game. 

A. exchanged  B. exhibited  C. excluded  D. examined 

 

9. The dancer tried to ______ the movements of his teacher, exactly copying every 

graceful step. 

A. plagiarize  B. lead   C. mimic D. possess 

 

10. Due to the ______ of hurricanes near the coast, a beach house must have sturdy walls 

to prevent it from collapsing during any of the frequent hurricanes that occur each year. 

A. lack   B. scarcity  C. shortage D. prevalence 

 


